


B %{Jo\mo\ ok c\cL'i.j (iprece)
&
e POUﬁd. o fcla o) Ca'ﬂtrpfece)
%’ pound (3 bass of c{ag)
? how menyy \aa..cjs of c,\ab need ed = |

° fhow Frany pounds of c\aj le £y over? a

I (bag,
2 5

SRR 1 &
A0 e 7] Ll
o] 1O M 1S5 -
_'3 s Ak =4
1Ol S 3
a3 8 =
Wy 2 M =
E |
¢ |
y i% Lwﬂb o 9} ‘
3<§) = Z% \bs Oft:c.\a_bfn 3 S \ vas
- 15 \b'socd%needea _
[fo \bo's \eSk over
Eva needs V7% tougs 0f clay Sk will have Vol &
\f...;-‘r ONC 1. "
ES \;i_p,é,und_s Cedk C\“? (&do‘mﬁ +‘i€\\r|nm\a,3> + (e :
T pound  yellow ey (B %)%' 3 -
7 necded eath class b 5 %,9‘.5 >
H’DW h’\OJ'\\j SMEn‘}S ? ’% . _l-z- =N
i8] -
Ol 19 Shwdents Ceo_t &
\0’3%( *1’\.@—.‘ Q _(0‘ . ¥
-
o 3
=




100,
)C

-

ovel &

2Ol

7



4) $3,2.S howr \Uﬁ,\t“.’\ﬁ a\oss
\ ,
/208 o;r\\\oo(mo(t\%

Vo ool in e abhnoen
Erocn o feeD
]

o) Yrow couch ﬁ\e,_‘m&n‘k?- Vo + o
Cos \ wolVed Yhem Lok Yo% 2
~ Novur 2V Ogﬂ S/(o Ogan \r\our
b)) o cnuch K pec el ” \P{() 0
d
| Cocl Speat S 7w nowls S 5.7
| _ < WO 7 \
e+ o
: =Y
C. On ‘f\LA.cs v 5/" l@
Vo ey (hodolD.= (\'Om
o
o _walks ‘HWLCLOfJSFDf 35 &
350 miades o : y
35 (10minuk) S
D, Yow moch @ 35(0).=3.50 "
0 ot sae ¥ 1. a0 L
OLKS a
el } P
ol
=52 3.25
A A L 25
G {
(13,75
- O



